
Answers – 06.05.20 

 

Reading 
30 minutes 

Vocabulary:  
1. a bay 
2. a (sort of) sword 
3. a sort of (unpleasant) smile or sneer 
Retrieval:  
4. January 
5. (brass) telescope 
6. Bill 
Inference: 
7. Jim’s father was very ill / dying. 
8. pinching, frosty morning, grey with the hoarfrost, breath hanging like smoke in 
his wake 
9. Because the stranger was talking about his mate Bill but Jim only knew him as 
the captain.  
Summarise: 
10.  
  
    2 The captain goes out. 

    1 Jim’s father becomes ill. 

    4 The stranger describes a cut on his mate Bill’s face. 

    3 The stranger sits on a table. 

Meaning as a whole:  
11. … motioned me to draw near. I paused where I was …  
Compare:  
12. Jim did not like him  
Evidence:  
‘…rid us at last of the captain…’ 
‘…our unpleasant guest.’ 
The stranger wants to fight him 
Evidence: 
‘…my mate Bill?” he asked with a kind of leer.’ 
‘A mighty pleasant way with him…’ 
Talks about the cut on the cheek/knows all about the cut on the captain’s cheek 
Talks about him in a menacing way 
 

GPS warm-up 
10 minutes 

1. Option 3. The school trip to Grenham Museum was fun. 
Challenge- Beginning of a sentence/after a full stop and proper nouns. 

2. 1=Q 2=S 3=C 4=E 
Challenge- Can Ben put the rubbish outside? 

3. Fluffy, juicy, victorious, selfish 
Challenge- rabbit, pile, carrots, grin, trap, farmer 

Writing  
30 minutes 

Use your skills from last week to check for spelling mistakes and ensure that the 
meaning is correct. 
If you have access to the internet, you could use an online dictionary to check 
spellings and meaning. 
Don’t forget to keep your work safe as you will need it later in the week. 



Arithmetic  
10 minutes 

 
Maths 

30 minutes 
Model answers: 
 
1) 

 
Initially you should split your bar model into 3 because you know 1/3 of the cars 
leave. You will then notice that 2/3 remain. Next, is the trickier part- turning the 
percentage into a fraction. You should be able to remember that 20% is 
equivalent to 1/5, so 60% is going to be equivalent to 3/5. Take the remaining bar 
and divide it into 5 equal parts and identify that 60% (3/5) of the remaining cars 
were red (174). Because you know how many cars were red, you then divide that 
number (174) by 3 because 3/5 is equal to 60%. You then know that 1/5 is 58, so 
you are able to work out 2/5 116, which were not red. Add both 174 and 116 to 
find out the total of the remaining cars (290). Because you know have already 
divided your initial bar into 3. You know that 290 is equivalent to 2/3. Therefore, 
you divide 290 by 2 to find out 1/3 (145). Lastly, multiply that by 3 to get your 
final answer- 435. 
 

 



The answer is 264. 
 

  
The answer is 22 x 10p  11x20p and 33x5p 

 

 
There are various combinations. Please see above. 

Enquiry/Project 
work 

30 minutes 

No marking necessary. 
 
 

 


